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QUESTION 1

Statement 1: A disk drive with a high latency performs better than a disk drive with a low latency. Statement 2: A smaller
seek time means that the disk performs better.

A. Statement 1 and 2 are true.

B. Statement 1 is true; Statement 2 is false.
C. Statement 1 is false; Statement 2 is true.
D. Statement 1 and 2 are false.

Correct Answer: C

QUESTION 2

Which of the following is the correct procedure for configuring a HUAWEI OceanStor V3 storage system?
A. Creating a Storage pool -> Creating a LUN -> Adding a mapping.

B. Creating a Storage pool -> Adding a mapping -> Creating a LUN.

C. Creating a LUN -> Creating a Storage pool -> Adding a mapping.

D. Creating a LUN -> Adding a mapping -> Creating a Storage pool.

Correct Answer: A

QUESTION 3

Many companies gather so much data that they cannot extract the right information from the data,
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 4

In storage systems, what does throughput refers to?

A. Amount of data that can be received and written to the storage medium in a period of time.
B. Amount of data that can be transmitted and received over network in a period of time.

C. Amount of signals that can be sent or received by processors in a period of time.
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D. Amount of calculations that can be processed in a period of time.

Correct Answer: A

QUESTION 5

In an ICT infrastructure the servers can run different operating systems like Windows, Linux, AlX.
A. TRUE

B. FALSE

Correct Answer: A
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